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SOCIOLOGY

(331)
Time : 3 Hours | [ Maximum Marks : 100
| : 3 9Ue ] [ gutiek : 100
Note : (i)  This question paper consists of 49 questions in all.
(i) All questions are Compulsorﬁl.
(iii) Marks are given against each question.
(iv) For Optional Module, attempt all questions either from Optional Module I or Optional
Module II.
(v)  Section - A consists of Question Numbers 1 to 25 and 41 to 47, as follows :
(@) Q. No. 1 to 17 and 41 to 43 - are Multiple Choice Questions (MCQs) carrying 1
mark each (1x20=20). Select and write the most appropriate option
(A, B, Cor D).
(b) Q. No. 18 to 25 and 44 to 47 - are Other Objective Type Questions. Q. No. 18, 19
and 21 carries 2 marks (with 2 sub parts of 1 mark each) and Q. No. 20 carries 5
marks Ewith 5 sub parts of 1 mark each), Q. No. 22 carries 3 marks (with 3 sub
parts of 1 mark eac P, Q. No. 23, 24 and 25 carries 4 marks (with 4 sub parts of 1
mark each), as well as Q. No. 44 to 47 carries 1 mark each. Attempt as per
instructions given therein with each such question at 18 to 25 and 44 to 47.
(vi) Section - B at number 26 to 40 and 48 to 49 consists of Descriptive Type Questions as
follows :
(@) Q. No. 26 to 31 and 48 - are Very Short Answer Type Questions, carries 2 marks
each (2x7=14), to be answered in the range of 80 to 120 words.
(b) Q. No. 32 to 38 - are Short Answer Type Questions, carries 3 marks each (3x7=21),
to be answered in the range of 150 to 200 words.
(c) Q. No. 39 and 40 and 49 - are Long Answer Type Questions, carries 5 marks each
(5x3=15), to be answered in the range of 400 to 500 words.
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(vi)

[t e s €1

Tk U9 % WA 3o fed T ¥

Shfeudh Aiega H ST A1 Al dAehieaeh HISTA 1 A1 Jehfeddh ATSTet 11 % Tt T3 T 8 |

QUg - A H U G 19 25 3R 41 9 47 f yhR ¥

(a) T HEA 19 17 3R 41 § 43 - Tgfawedd YHR F U T, S YOS 1 3F H T
(1x20=20) | 37 U H FaI9 39K fashed (A, B, C A D) I IR fafam

(b) U TEAT 18 T 25 TR 44 H 47 - 31 TGS YA & | T T&AT 18, 19 3R 21 T 2
3Tht T § (S SUHTT F T T H1 1 3TH), T G 20 & 5 3% & (Ui ST &
T Y 1 1 37eh), 9 W& 22 % 3 37k © (A IUHFT o |1l Tk I 1 31, T
& 23, 24 31X 25 TS 4 31 H1 € (IR IUNMT & WY YIS &l 1 3h), TH IR
T T 44 9 47 TAF 1 31 o1 8 | 97 H&A1 18 H 25 3R 44 § 47 o W I T8 g1
% AR e |

U - B U G 26 T 40 31X 48 ¥ 49 F7 YR F FIUMHIHE T € :

(a) T HEAT 26 9 31 3R 48 - 3T ST THR o T, TAh &l 2 31 (2x7=14), 3iX
IR HT I5E T 80 T 120 VT F |

(b) U WA 32 W 38 - Y IUT YR o T, TS 1 3 37 (3x7=21), 3R IW & I
T 150 ¥ 200 9T ¥ |

(c) U W@ 39 3R 40 qAT 49 - H IANA YR & U T, T&Ah I 5 37k (5x3=15), 3R
IR HT o5 AT 400 T 500 I T |

O[3 0]
68/ESS/1-331-A | 2 g;% [ Contd...



NOTE/fd9r :

(1) Answers of all questions are to be given in the Answer-Book given to you.
Gt g o ST M9hl & TRA I Yidem | € ford |

(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.

9 I9-99 &l 9g4 o fare 15 e o1 99a foon T 8 | 9e-u 1 faaRor Qruel | 02.15 91 fohan S |
02.15 5151 § 02.30 9151 T BT hadl J-T3 1 T 3R 30 Fafy & IRE I IW-YRasht T HIE W Tl
ot |

SECTION - A/ @Us - A
Answer all Multiple Choice Questions.

Tt agfashcdta U9l o I ST |
1. A neighbourhood or a village are good examples of which of the following ? 1
(A) Community (B) Society
(C) Urbanization (D) Association
T TS 1 e frefafed § 9 frash o= e ¥ 2
(A) THHE (B) HHS
(C) ==X (D) ==

2. The Industrial Revolution that started in Europe in the late 17th century gradually impacted 1
the entire globe. Identify the factor that cannot be associated with this phenomenon :
(A) Production moved out of households to factories.
(B) The role of capital in the production process increased.
(C) People from all strata took to agricultural activities.
(D) Many women entered the work force.

9 | 17 Tt H g8 ofeifies wifa oi-oik dyut fava & et 7 | 39 FRSE FI Te9H w5 9
TREeT | e g3 e § ¢
(A) 3RA =R Y et wREMT § <l 741 |
(B) 3cured ufskan | St <t yftrert =g T |
(C) 9t =l < w3 fw fdfafel s sToAm |
(D) Gsft ufeemsti 7 wed & § yorwr fohan |
3.  Karl Marx was the chief architect of the economic theory of social change. Pick the view that 1
does not match with the Marxian view :
(A) Capitalism emerged because of contradictions in feudalism.
(B) There would be a class struggle between the farmers and the workers.

(C) A revolution would be carried out by the workers.
(D) Socialism would emerge as a result of the ills of capitalism.

Shiel AR WIS T & fefer fagid o 4 TR 9| 9 | 8 e g4 S Aredarat
gfteenior § Tet & @

(A) ISiaTe w1 35 FHaare H faRienrEl & HRo ge |

(B) fohumi 3R weigdi & oft=r at-wed 2|

(C) gfehi g/ Bt T whifd |

(D) YSiaTg & gUEdl o IRUFRETEY THISENR 1 36 B | e
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4.  For simpler understanding, Anthropologists have defined a tribe as a social group that : 1
(A) Has territorial affiliation and no specialization function
(B) Is exogamous in nature

(C) Is conscious of territorial and ethnic homogeneity
(D) Only (A) and (C) are correct

TS A o T, Aasmest stfcars me T T 9l 99 9 ld © TSI :
(A) TH ffeaa & § e = S § &R & fafvreie 72 g |
(B) ¥epfa H wfefdamt €1
(C) A TR T IS T & THhell o TR H SIFTE B ¢ |
(D) Fad (A) IR (C) & T |
5.  Sociologists have identified certain essential attributes of society. Which of the following is 1
not an attribute ?

(A) Inter-dependence

(B) Likeness with no difference
(

(

) Co-operation among members
FHSIRITET = FHIS % T &0 1 Te=r ¢ | F1 3 § S & e 721 § 2

C
D) Can have conflicting relations

(A) T TER W HA BT (STHMHRA)
(B) fom forelt fasig & @M@
(C) we=i & o= H "edm
(D) TER forieh Haiedi &1 g
6 Which one of the following will not fall under consanguineal kinship ? 1
(A) Relationship between child and parents
(B) Relationship between uncles and niece/nephews
(C) Relationship between father and mother
(D) Relationship between siblings with same set of parents

frefefad 9 | S | 9 Acer % sAqid T2l A ?
(A) o= 3R Ara-Taan & o= ey
(B) =T AR fSH/ wicftsii o o< Hey
(C) fam iR | & o= Helw
(D) THM - fadl arel TE-sl o e gay
7.  Identify the factor that cannot be associated with poverty faced by a number of families in 1
our country.
(A) They are landless and are dependent on others for work and wages
(B) They have to work at low wages

(C) They get work all the year round
(D) They have to take loans at high rates of interest

I FHRE H! UgIH H 9 TR 9 H $S IRari gR1 A1 6t o W R S e @ = Srer s
Hehdl :

(A) 9 HEH T iR &m 3 Aeigd * foe god iR 7

(B) 3= Y I TR HH HEAT Ul ©

(C) 3% Qa9 %W fHerar &

(D) 3% 3= <A T W KT &A1 TSl ©
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10.

11.

12.
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Illiteracy is a curse for modern society because it leads to :
(A) Ignorance

(B) Deprivation

(C) Often wrong thoughts and actions

(D) All of the above is true

frerar smyfer T % fag weh iy €, =it =% ft o0t 3R & S §

(A) AT

(B) SAHTERIA

(C) T fo=R iR w7

(D) SR Tt T T

Identify the factor that is not linked to membership of a caste.

(A) Ascribed (B) Hereditary

(C) Transferable (D) Assigns a social status
39 FRE I TgAM FHL Sl {HE it Tl 9 T T € ¢

(A) W= (B) eI

(C) AR (D) wrHIfSTR YTt Ya

Which fact is not considered by sociologists in their understanding of Institutions ?
(A) They are basic constituents of society

(B) Important for survival of society

(C) Is simply an organization like a school or a hospital

(D) Six primary institutions are found in almost every society

Heratl o Gey H gHSEnteEEl gii fhe qea W faar 72 fohen s 2
(A) o TEN & R TeE &

(B) o U & ifd & fau meey §

(C) % Faa foaner iR sreudret Sl T T ©

(D) I & TEI H o8 mefhen geemd ur st §

Favouritism, dowry, foeticide, immorality etc. will all fall into which form of corruption ?

(A) Social (B) Political

(C) Religious (D) Professional

T&TITd, Tesl, YUIRCT, STfashdl oTfE Y= & fohe &9 H ST ?

(A) @ISR (B) rSHfereh

(C) eiHen (D) TR

Which of the following is not a feature of caste system ?

(A) Segmental division of society (B) Restrictions on occupation, food
(C) Endogamy (D) Non-hereditary

frfafed § & w1 @ sifa-reren &1 aao 768 § 2

(A) HHS S GUSTHS TAYTSH (B) IUM™ IR IS W Hfdare
(C) @rifeiaTe (D) TR-swTgT



13. The Survey Method of social research can be classified as : 1

(A) Evaluative (B) Predictive

(C) Explanatory (D) All of the above
TSI STIEHM S waer fafy 1 38 YR avfieha foman ST Tehell © -
(A) FAHAHR (B) wfered <¥ieh

(C) =rEATHS (D) W Tt

14. Modernisation is a broad concept. Which of the ideas mentioned below brings out its essence ? 1
(A) Any culture can modernise without adapting to western values.
(B) It does not imply abandoning the traditions totally.

(C) Requires integration of rational aspects of tradition with suitable aspects of modernity.
(D) All of the above ideas are true.

MR T S SRR | Frefafed # w9 w0 e ST AR e e § 2
(A) i off Tepfa aftadt geaii Sl STIAT forT STefTehRiehtor T Wehdl ¥ |

(B)  SHeR! HeeTsl WU shi T GE W N T B |

(C) SMeIfTohal & ST TR F T T ok TohGTd TES h THIHU i SR & |
(D) Swer g+t fo=m @ 2|

15. Scheduled Tribes have been conscious of their identity since long and have organized 1
movements against :

(A) Zamindars (B) Jagirdars

(C) British rule (D) All of the above

Agfed SSIfaal o T9g ¥ ST TeEH % Ufd W W E o 3% TEe faerw stidie
(A) wHIER (B) SIFiRER

(C) forrer wmeA (D) ST Wt

16. Traditional occupation system known as the Jajmani system is gradually eroding. What has 1
been the main reason of this trend ?

(A) Land reforms has altered traditional land ownership structure

(B) Market economy has spread

(C) Nature of inter-caste relationship is changing

(D) All of the above

IR S YUet T ST Sael o A | S S €, -2 T 81 @ 7 | 36 g
FOE :

(A)  off guri 7 TRule yfi e §=m & 95 fn §

(B) WISIR ALfaEe 1 Yolvl

(C)  3rwsiica Geiell st Wehfa siget Wl &

(D) Wi a4t
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17.  Which of the following qualify as a social group ? 1
(A) Audience clapping after watching an interesting play
(B) A crowd witnessing a protest rally passing by
(C) Residents welfare association meeting every week in the colony common room
(D) Random people at a railway platform waiting to board

frefafaa # @ =9 o1 QIS 998 § 2

(A) TH feT=ed Tk @ & 918 S0 Al ol @© & |

(B) T fore Yoft <@ & +fis T8 9 TSR @

(C) HCH! & AT T H R TR (TSH JTHR THITAURE i I3 Bl §

(D) YT ®IEHH W =G o SaeIR H sialdisl Tnl

18. Fill in the blanks. 1x2=2
(i)  Kinship terms help us in understanding the (interrelationship/ friendship/
problems) between various members of a family and their status and role within it.
(i) The relationship between mother and child is the starting point of (affinal/
consanguineal/fictive) kinship.
et o Wit
() AR & 9 9ReR & fafy= we=i & (Tl / <t/ FoeATd) 3R Skt
feafa wa gfest 1 TmeH # Heg i T
(i) W R o= F = F e (SFanTfeeh / FATaR / FHTcafTeh) et ot YesTd B |
19. Fill in the blanks. 1x2=2
(i)  Rural societies have a relatively (developed/self-sufficient/ professional)
economy particularly in terms of production and consumption.
(ii) (Pull/Push/Resource) factor means the relatives in the town invite their
close people and try to give them jobs.
e warm Wit
(i) Tial Y refeaen (faerfaa/ sTafeft/I9eR) €, TR ¥ 3 T 39H &
SER
(i) (Ei=r/ uoher /g|re) ot feafq o1 oo wmwenfEEl 1 3k wed § s9 U
Tehe Feiefl 1 s feet o forg wredl # TmfE e €|
20. Define One Word. 1x5=5

(i) Kinship terms that cannot be further reduced or broken down into simpler words are
referred to as -

(i) A joint family system where the extension of family is along vertical lines is known as -

(iii) When the descent is traced through the female line, it is called -

(iv) Kinship behaviour under which kinsmen do not address each other directly is referred
to as -

(v) A person who is the basic point of reference in determining and tracing kinship is -

T v H aRifia sHifse

() o TR 9% 5 oIk B Wkl § S SIgen A1 el S ekl 39 HEd © -

(i) G TRER YUMel el TRER o1 faear Seafer @il & 91 2 8, o wedd © -
() T ST B G A IR Y IE § q9 3 Fed | -

iv) FERI % o= H Se fRE AT | greien R s R @ 9w -

(v) o% Afw foas SR W ARl ffved @i St ], e § -

—~
~"
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21. State True/False. 1x2=2

(i) Movements that aim at restoration or reinforcement of old, traditional systems can be
termed as counter-revolution.

(i) Functionalist theory states that every pattern of action, belief and interaction tends to
generate an opposing reaction.

el 91 Terq feafa)
() o AREE S g, W[ Uil it STl e JIEO & 3evd § 99 9| §, o
‘gfa-shifd’ e |
(i) TR & g % TR Tk, fovamg iR sfshan Tk faadia fafsran & 51 <3 @1
T LA
22. State True/False. 1x3=3

(i)  Every group is structurally organized.

(i) Based on the presence or absence of formal rules, groups can be defined as formal or
informal.

(iii) Family as an association is a group whereas an institution, is not a group.

el 91 Terq feafa)

() IUH HE GEATHS &Y Y Hfed T

(i) et sl fram =t ufeefa stemn stuftafa & wg &1 Siq=nie =1 sH=nie 998 o
wfifi fepan <1 weha 1

(i) T HY F €I H IRAR TH TE T, TR Th HEA ok &9 H YL T2 |

23. Answer the following Assertion Reasoning Questions. 1x4=4
referfEd gl & SR <ifer |
(i) Based on the following identify the correct option.

Assertion (A) : The direction of evolution can easily be reversed from the complex
stage to the simple stage.

Reason (R) : Evolution is an irreversible process.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

11 & YR W w& foshed &l AT

arar (A) o =t foon &1 o 9 wifedt | Wa w1 SR ufkafda fran s wear 1

T (R) :

: foma © cﬂqﬁolciﬂ”lq PIERIES

-

O[3 0]
68/ESS/1-331-A | 8 g;% [ Contd...



(i) Based on the following identify the correct option.
Assertion (A) : Revolution is a sudden and abrupt overthrow of the existing social
order.
Reason (R) : In French revolution the rule of the emperor came to an end suddenly.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

1 & oaR R wEl fosed 1 T
TET (A) : TSl SEINh el AR TGid &l TS AR TRSS @IS theh S 6
fearfa shif St 81

TR (R) : ¥ T TSThIT oh Thoea®d THIE i T TheH AT o T8 of |
(A) (A) 5El, SR (R) o §
(B) (A) e, feR (R) Wt §
(C) THi(A) 3R (R) &t &
(D) <HI (A) 3R (R) Terd &
(iii) Based on the following identify the correct option.
Assertion (A) : Socialization is an ongoing process.
Reason (R) : It helps the child to grow and develop physically and mentally.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false
11 & YR W w& foshed &l MU/
TET (A) : FHSHHT AR e del Tk Fihar 2|
HIUT (R) : I8 o= i IR IR AFfas gfg IR fawm o gemar & 2
(A) (A) W&, SR (R) o §
(B) (A) e, feR (R) Wt ©
(C) THi(A) 3R (R) W&t &
(D) <FI (A) 3R (R) Tera &
(iv) Based on the following identify the correct option.
Assertion (A) : Human society has rarely experienced changes.
Reason (R) : Social institutions have undergone tremendous modifications from
the times of our forefathers.
(A) (A) is true, but (R) is false
(B) (A) is false, but (R) is true
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false

11 & YR W w& foshed &l AT

TET (A) : TG GAN A S & i aRadHl 1 sT9d fohan 7
T (R) : G Geenei  qeisi & T09 ¥ 31gyd Seed & W ¥ |
(A) (A) T, AR (R) Tod §

(B) (A) e, Wfeh (R) Tl ©

(C) THi(A) 3R (R) W&t &

(D) i (A) 3R (R) T &

O[3 0]
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24. In this question there are a total of 4 items Match the Columns type question items carrying

1 mark each. 1x4=4
(i)  Nuclear Family (a) Implies that the interest of the family as a whole is
more important than individual interest
(i) Matriarchal Families (b) Isbasically a bilateral grouping made up of husband,
wife and relatives on both sides
(i) In Western Countries (c) Isa type of family based on size
(iv) Familistic Interest (d) Examples, Nayars of Kerala and Garo tribes of
Assam

() Married couple reside in the wife’s parental
household or community

(f)  Young couples mainly prefer Neolocal family

39 U9 § gt 4 FieT U9 &, U U9 T 30k T 2

(i) THA IRAR (a) de9d 7% T o 9w w9 @ ufer o1 feq sAfor fea @
31fereh TRl ¥ |

(i) HEAEER qRAR (b) TS ®9 G ufd-get 3R ST vl & fededi 9 59
fguafta w98 81

(iif) fe=et <u | (c) SRR o STHR T YR IRar |

(iv) uRarardt fed (d) ST % I et & TR SR ST MR SESaa

(e) Toenfea sl uclt o fodr o =X 3teren wqe@ § e

HA T

(f)  Froar SIS g €9 ¥ TIEIH d1el TRER S Sal 7
2l
25. Read the passage carefully and then answer the questions which follows. (1 Mark each) 4

The followers of Judaism are known as Jews. The ancient Indian settlements of Jews
are in Cochin and Maharashtra. Both the settlements are small in number having a combined
population of not more than twenty thousand.

The Jews of Cochin have maintained their religious identity for at least a millennium. It
was in 1020 AD that the king of Cochin gave the Jews the right to live and enjoy privileges,
such as the right to ride elephants and to go with a state umbrella etc. Later, the Jews came
to be divided into two groups-the white Jews, who were lighter in their skin color and traced
their kinship to the original migrants and the Black Jews who were dark skinned. Between
these two groups of Jews there was no similarity in food habits and marriages.

By contrast the Jews in Maharashtra are large in number. The Jews of Cochin were
different from the Jews of Maharashtra. These Jews are known as Bene Israel i.e. Sons of
Israel. They live in several Konkani-speaking villages as oil pressers, since oil pressing is not a
prestigious occupation, they do not rank high in their villages. As they do not work on
Saturdays, they are also known as Saturday Oilmen.

(i) What were the Jews of Maharashtra called ?
(i) Mention the rights and privileges granted by the King of Cochin for the Jews.
(iii) Which religion is followed by the Jews ? Where had they mainly settled down in

India ?

(iv) Write a brief note on the ‘Bene Israel’.
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26.

27.

28.

29.

30.

31.

et TTenyT Rt eAYdes ufen 3fX e feu T et & SeR it

IEAT G I T ATl ! Tgal hed ¢ | U ARAT FgIGAT o B AT A hi=id To HeRE

T ¥ 37 IH THi o Sfeqal sga SISt W § €1 9 T 20,000 TR € |

I o AGISAN 7 ST TEAH JTeid THF (e 96) § o W& ¢ | ed © ok 1020 sl
T = o TSI A TR ol FS fomiw Afesr fed &1 37 favm sifenrl # wreft &t wart IR TSkl
AR 1 TR T A | o1 H & FGGT &1 IRl | d T4, Toid Igal Toent woran 9ihg off 31k S a1
3TTIeh! HifeTsh Agal A &, T g 98 TSRt 11 hrell o1 | gfedl o 3 91 9el § @H-TH 3R

forame & s Trer T8l 9 |

3ok foadid werTe § Fgfedl i e a3t 1w % I9ga, "N & ggied 9 fu= €
HERTSE o Fgfedl Sl SHESEel AMT ToRIEe & o Fed & | hishull 9o Sier aet Tiidl o 3 a[gat 7t
T U I € FifR Tl T o gfafted =ream 6 €1 31: ST Mg H SR WH I TR T o

AR 1 M & H, S= AR 29 T ot el 51 g |
()  HERISE % g hl 1 el ST o ?
(i) A % TSGR Fgfedt i feu T iRl ud fasrmfueRi @ seera wifee |
(i) FEel forg o 7 e A 2 F IRd § I T Y el 99 F ?
(iv) ‘SrESEd’ W T Giya feot fafau |
SECTION - B/ @Us - B
Answer the following questions in around 100 words.
frfafaa o @ uder U9 AT SAT IO 100 9Tl ® feafEm)

What perspective is adopted by the functionalists in their attempt to analyse society ?
SeRTITEE G FHTST Rl ToReTooT St % WaTE H hIF |1 GRYeT 7O Sl © 2

2x6=12

(a) Distinguish between ‘natural inequalities between people’ and ‘inequalities in their 2

conditions of existence’.
‘grepfass TR seRl’ 3R 37 * a1t ot qumedl i IR e’ § SR T & |
OR / 3eran
(b) How is Hypergamy different from Hypogamy ?
s foame iR wiqem faame & = i € 2

Discuss how does Karl Marx understand the ruling class and the service class.

a1 o o hTel W AT o SR Sa a7 Wi hE WHEd © 2

What is dowry ? Why is it regarded as an evil practice ?
TS 1 € 2 3 Tk HUAT T WA S € 2

Highlight the role of Public Opinion as an agency of social control.
TSR 01 1 TSiHt & w9 § SHAd S e T YR Sifert |

(a) What is corruption ? Mention some of the manifestations of corruption in daily life.

YRTAR =1 7 S S § =R &t 39 stfyeafal 1 Seorg & |
OR / 3teraT

(b) What is poverty ? How does illiteracy contribute to poverty ?
T o § 2 Frawan T § 9 e R € 2
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32.

33.

34.

35.

36.

37.

38.

Answer the following questions in around 200 words.

frefafaa woel o SAT Rt 200 vrel ® Sifea )

(a) Describe how the subject matter of Political Science is different from that of Sociology ? 3
Tl ¢ o T foam ot faseeg aaemres @ fha yar i €2
OR / 3eran
(b) How do the concepts of status and role establish a connection between Sociology and
Psychology ?

gieefd 3iR Jffeht &t STTERom HAIfoRM 3iR THISEIS & o9 Y Hae enfid & € 2

What are challenges of using participant observation technique of data collection ? 3

JRTER SRt Jervr fafer grT 3ffehs geheat e | o gAifaar € 2

Discuss how caste and economy is linked ? 3

==t Y Tom Sfa 27X stefeeeen frg YR Heifad © 2

(a) Explain the relationship between Assimilation and Socialisation. 3
TATeRTOT T FHTSITER0T o Hele T i |
OR / 3eran
(b)  What are basic principles of role theory ? How does the process of role taking help in
developing personal identity ?

Jftrept fate o fasia & gaym fem & € 2 ftew fvm =t afsean ford TR safaae faenmd
H HEE el § 2

(a) How do customs act as a means of informal social control ? 3
WY fohe TehR § WIS F1E01 & STo=nfich WIeF & &9 H el ! 8 2
OR / e
(b) How are laws different from customs ?
FTE genelt ¥ forg yeR fu= 82

One of the major problems faced by the Scheduled Tribes is displacement. How does that 3
affect the tribals ?

ST SHSIaa o T STHaTe T el § 9 T fowemad €1 398 3% e YR goTfad
HIA T2

(a) What is the difference between ascribed and achieved status ? Explain with the help of 3
examples.

e IR AfSia wfeafadi § a1 3 € ? Sfud Sl g’ T &l |
OR / AT

(b) Discuss the four forms of marriages that are considered proper and desirable in the
traditional Hindu Society.

R fowg ot § foame & =l 9R ey i st 3R aifed o9 9 €, T+ |
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Answer the following questions in around 500 words.

frefafaa woel o SAT @R 500 vrel W S|

39. (a) Ithas been observed that deprivation and discrimination is still faced by a girl childin 5
some sections of our society. Explain with examples from contemporary societies.

TS # o7+t oft U et b afeadr R SeuEge ferdt H SEd € | SHTeE ShS § 390
TR T A |

OR / et
(b) What is Population Explosion ? Explain the three stages of population transition. 2+3
SHE faehie | o dcr § ? SIES WhH0 o il sTaeens i Hiesd Jadrst |

40. (a) “Family is the basic unit of social organisation”. Discuss the specific features or 5
characteristics of the family.

" qfER AT e i et ST © ' | ORER i fagmaretl W == it |
OR / rerar

(b)  Certain, definite and comparatively stable patterns of behaviour of different members
of a kin group are in place. Explain the kinship behaviour based on avoidance,
avunculate, amitate and teknonymy.

TSR SRR A HeER i A Afar e wg % any A At § | TR # 59 it
S URER, A Ty, fugeaen sifyer iR sTwdafa ralie & STHR W AN e8R &t
AT W |

Optional Module - I : (Status of Women)
qehfoueh TSI - [ : (WfEeTIel ot | &Y )

41. Name the reformer whose name is associated with the Child Marriage Restraint Act of 1929. 1

(A) Raja Ram Mohan Roy (B) Ishwar Chandra Vidyasagar
(C) Harbildas Sarda (D) Dayanand Saraswati

IH YRS H1 A9 FIq1e fSrEeht M 1929 % o1t faare foy sifufeae 3 g e
(A) T TH Higd T (B) IR 5 foamErR

(C) TfeIele™ WRaT (D) <AME Tl

42. Which Article of the Indian Constitution declares ‘the State shall not discriminate against 1
any citizen on grounds only of religion, race, caste, sex, place of birth or any of them ?

(A) Article - 14 (B) Article - 15(1)

(C) Article - 14(1) (D) None of the above

IRATT WG9 1 A |1 3Twss =iud il § 1o oA fohdll AN & faas shad ¥d, Jead,
STfd, e, 7 Tom a1 39 9 fordl & STUR R 9euTd 7ei O ?

(A) 3FTT - 14 (B) =T - 15(1)
(C) STT=T - 14(1) (D) SR H ¥ IS Tl
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43.

44.

45.

46.

47.

48.

49.

O[3 0]
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Which of the following terms refer to the death of mothers in child birth ?
(A) Infanticide (B) Foeticide

(C) Maternal mortality (D) Death rate

frefafed 8 9 ®F W 8 o= % 9 % SNE AIIST ot Jo Sl TIUd H © 2

(A) oy sen (B) U=
(C) W Ig (D) T3

India’s sex ratio, which stood at 972 women per 1000 men in 1901, had declined to
per 1000 by 1991. (Fill in the blanks)

IRA <1 fefm e7gara 1901 # wfd 1000 Teui W 972 Afgamd 3R 1991 § 78 w2 gfa
1000 &1 T o7 | (e Tom o)

During the (Medieval/early Vedic/later Vedic) period, evil practices like sati,
child marriage or ban on widow remarriage did not exist. (Fill in the blanks)

(AT / IR Sfceh /ST afew) w1l & S 9dl g, s foare a1 faemen
Afdere Wfaeier St pyemd @ off | (R T @)

The difference between men and women as created by the society - (Define in one word)

et § gEul IR Afgensii & ote AW - (T wsg § uRenfad %)

Feminists believe in the idea that women’s biological make up determines their abilities.
(True/False)

ARerel fagard wtd § T Afgenati ot Sifaes S & Sent e fHuifa et €1 (98 /7o)

(a) What is gender discrimination ? Give one example from your day to day life to justify
that we still experience it in our lives even today.

TR 9RHTE 91 § ? 379 STk SiTa o 3STe0 <d gU fis FifSe fof 9 o1t off s1om Sfed
3 e W TR
OR / YT
(b) The Constitution of India laid the foundation for creating a social order where men

and women are treated as equals. What does the Directive Principles of State Policy
prescribe in this regard ?

YRS HfTH 3 Teh TH AT e Tfd shid i g Siell foed 3ia o e 99 oF
I | TsT % ifd fAderes fagril 3 39 forg g Tenfya fan §2

(a) A series of laws have actually paved the way for bringing about major changes in the
lives of women. Enlist any five such laws that have been passed to protect their rights.

A 1 Tk WA A aredd § Afgetiedi & staq | 98 Igard aM S 01 geRd fwa ¥ 137 6
iRl ot 2&T & fere wiika fohw o foR= e sl 1 geiteg i
OR / 3teran
(b)  Describe the status of women in the Modern period of Indian history.

AR sfaem™ & 3nYfTeh hial § Afgetied ot feufa i1 9o w |




Optional Module - II : (Indian Culture)
Yehfeuen ATSTE - 11 : ( WA GEehid )
41. Identify the fact that supports the fact that time is a determining factor in the cultural make
up of a people.
(A) Wearing warm clothes in winter
(B) There were no railways about 200 years ago

(C) About 3 decades ago people were not exposed to computers
(D) All of the above

39 T2 & TEAM L S 39 91G 1 HHT HIAT © foh TN ol Wiehiash URid H G Th HERE
FH T

(A) | # 7 w9 TET

(B) TIIH 200 Y YA hig Yrdl el off

(C) IV 3 S Yool AN HF &k Tk | a1 o

(D) Ul |t

42. Based on the following, identify the correct option.
Assertion (A) : In the Indian society, the emphasis on ritual seems very high.

Reason (R) : The religious practices and values are constantly striving towards,
‘Samanvaya’ i.e. reconciliation and concord.

(A) (A) is true, but (R) is false

(B) (A) is false, but (R) is true

(C) Both (A) and (R) are true

(D) Both (A) and (R) are false

=1 & 3TeR W wE fashew =l T

T (A) :  IRAT TS H, STTSH R o8y o 7
HTT (R) : THE FT 3R Yo TR To-a 31eiq dieriet 3Tk Geurd i foun o 9o & @ €1
(A) (A) 9 @iferd (R) 7o

(B) (A) T wfeh (R) Wl

(C) =T (A) 3T (R) W

(D) S (A) S (R) e

43. In the beginning of the 20t century during the British rule, distinct architectural school
emerged. Identify from the following.

(A) Revivalist school (B) Sarnath school

(C) Progressive and Modern school (D) Both (A) and (C)

20 off TSt w1 yEeTa | fafew yrm & SR, faftre argfiey faemem o 5o gon1 frafafea 9 9
TEaM :

(A) TecAEE! Thed (B) WY Thed

(C) wfriter iR snyfer Thel (D) =Hi (A) ¥R (C)
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44. The painting can be seen on the walls and ceilings of the Ajanta and Ellora
caves. (Fill in the blank)

3ToTT SR Vel &t et i <ari Td =dl WS T et femrg <t ¥ |
GESEDIERY)

45. Restrictions or prohibitions that are not permitted by society is known as (law/
taboo/force). (Fill in the blank)

3 gfasier a1 Ik S AT 5T Tiiehd 6l § (fafu/afsiaraet) weam &1 (feom o «))

46. The art and science of designing and erecting buildings is called - (Define in one word)

e[l % TAfEE oM 3R word Fafor 6t el weard § - (T v § o)

47. Culture is unique to human species. (True or False)

HEhfa o et & fore sifgdia €1 (|et/ o)

48. (a) Mughals were a great patron of literature. Discuss with examples.
el Hifeed o HET Harh 9 | S0 died == i |
OR / et
(b) How is Indian cultural heritage considered so rich and diverse ?

IR Fitpias fatred sat 99g iR fafaeamel F3 o S €2

49. (a) What is culture ? Explain the two broad components of culture.
G&ha 17?2 GERid & < IR TR I R A
OR / et

(b) How is culture a learnt behaviour ? What is Enculturations ?

YR T W g3T SHaeR Fl T 27 GEhRII0 ¥ 91 e § 2
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